
SAP ABAP table J_1BSDTL2 {Tax Law IPI}

J_1BSDTL2

MANDT [CLNT (3)]

AUART [CHAR (4)]

PSTYV [CHAR (4)]

LAND1 [CHAR (3)]

REGIO [CHAR (3)]

TAXLW2 [CHAR (3)]

J_1BATL2

MANDT [CLNT (3)]

TAXLAW [CHAR (3)]

 J_1BSDTL2-TAXLW2 = J_1BATL2-TAXLAW 
0..N

{0,1}

T000

MANDT [CLNT (3)] J_1BSDTL2-MANDT = T000-MANDT 
0..N

{0,1}

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]
 J_1BSDTL2-LAND1 = T005-LAND1 

0..N

{0,1}

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]

 J_1BSDTL2-REGIO = T005S-BLAND 

0..N

{0,1}

TVAK

MANDT [CLNT (3)]

AUART [CHAR (4)]

 J_1BSDTL2-AUART = TVAK-AUART 

0..N

{0,1}

TVPT

MANDT [CLNT (3)]

PSTYV [CHAR (4)]

 J_1BSDTL2-PSTYV = TVPT-PSTYV 

0..N

{0,1}


